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N ave i‘nurchmms for each objective type question as A, B C and D. The choice, which you think, is correct; fill that circle in

flhalqucslmn number, Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that

qucsuun.Wnlc PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,
otherwise the student will beresponsible for the situation. Use of ink remover or white correcting fluid is not allowed
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The symbol used for parallel is
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Two A parallelogram has vertices.
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